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QUESTION 1

Click the Exhibit button.

userfroutert show policy—options
policy—astatement damp {
term = §
from {
route—filter 10.128.0.0/9 exact damping dry;
route—-filter 0.0.0.0/0 prefix—length-range /0-/8
damping timid;
route—filter 0.0.0.0/0 prefix—length-range /17-/32
damping aggressive;

}

1

policy—atatenent send-direct {
term.-Z
from protocol direcs;

then accept;

1
damping aggres=ive |
half-1life 30;

suppress 2300;

]

damping timid |
half-life 5;

1

damping dry |
digakle;

A customer is concerned that the route damping policy on routes with prefixes greater than/17 is allowing too many flaps
to occur. The customer does not want to change the default timer.

Referring to the exhibit, which two actions would allow fewer flaps per route? (Choose two.)
A. Increase the suppress parameter to 3500.

B. Decrease the suppress parameter to 2000.

C. Increase the half-life parameter to 45.

D. Decrease the half-life parameter to 15.

JNO-647 Practice Test | INO-647 Study Guide | INO-647 Exam Questions 215


https://www.pass2lead.com/jn0-647.html
https://www.pass2lead.com/jn0-647.html
https://www.pass2lead.com/jn0-647.html

P 2L d https://lwww.pass2lead.com/jn0-647.html
ass ea 2024 Latest pass2lead JN0-647 PDF and VCE dumps Download

—— https://Pass2Lead.com

Correct Answer: BC

QUESTION 2

Click the Exhibit button.

uzerffBl> show ospf database extensive
O5PF link state database, area 0.0.0.100

Iype 1l Adv HEr s5eq aAge Upt Cksum
Router 10.100.1.1 10.1d0.1.1 0=8000531 186 0=x2Z 0=xfe3s
Bits O0x2, link coumt 1

Id 16.100.0.2, date 10.100.0.1, Type Tramsit (2)

TS5 count O, TOS 0 metric 10

Aging timer 00:57:13

Installed 00:02:42 ago, expires in 00:57:14, sent 00:02:40 ago
Router 1582.168.125.200 152.168.129.200 0=x8000015a 548 0x2 0Ox517e
Bits 0x2, link count =

Id 152 . 1&£8.128.0, data 255.255.255.8, Type Stub (3)

TOS count 0, TOS 0 metric 1

Id 10.100.0.2, data 10.100.0.2, Type tramsit (2)

TOS5 count 0, TOS 0 metric 1

Id 10.100.2.1, datz 10.100.2.1, Type transit [Z)

TOS count O, TOS D metric 1

Id 16.180.3.1, data 10.100.3.1, Type transit (2)

TOS coumt 0, TOS 0 metric 1

Id 15%2.168.129.0, data 255.255.255.0, Type Stub (3)

TOS count 0, TOS 0 metric 1

Aging timer 00:50:51

Installed 00:09:05 ago, expires in 00:50:52, sent 00:09:03 ago

Len
38

B4

Router #1592.168.135.138 1582.1468.135.138 0=x300001c3 2687 0x2 O0x2b0B &0

Bits ©0x0, link count 3

Id 10.100.3:.1;, data 10.100.3.2, Type transit [2Z)

TOS coant 0, TOS 0 metric 1

Id 10.,100.2.1, data 10.100.2.2, Type transit (2)

05 ecount 0, TOS 0 metric 1

Id 1%2.168.135.138, data 255.255.255.0, Iype Stub ({3)
I0S5 count O, TOS O metric 0

Gen timer 00:05:12

Aging timer 00:15:12

Installed 00:44:47 ago, expires in 00:15:13, sent 00:44:45 ago
Ours

Referring to the exhibit, which statement is true?
A.R1lis an ASBR.
B. R1 has the B bit set.

C. R1 is a backbone router.
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D. R1lis an ABR.

Correct Answer: A

QUESTION 3

In a Layer 2 environment where 802.1X is deployed with its default parameters on EX Series switches, which two
statements are correct? (Choose two.)

A. RADIUS authentication requests are sent from the authenticator to the authentication server.
B. DHCP traffic from supplicants is denied by default through the authenticator.

C. RADIUS authentication requests are sent from the supplicant to the authentication server.
D. DHCP traffic from supplicants is permitted by default through the authenticator.

Correct Answer: AB

QUESTION 4

Your campus EX9200 core devices are highly oversubscribed on bandwidth and reporting massive dropped packets. To
immediately address the issue, you decide to implement shaping on all interfaces.

Which action will accomplish?

A. Apply the input-shape-rate 5G parameter to all interfaces under the [edit class-of service] hierarchy.

B. Define a CoS input traffic control profile with the shape-rate 5G parameter and apply it to all interfaces.
C. Define a CoS output traffic control profile with the shape-rate 5G parameter and apply it to all interfaces.
D. Apply the shape-rate 5G parameter to all interfaces under the [edit class-of service] hierarchy.]

Correct Answer: D

QUESTION 5

Which two statements are correct about using LLDP on junos devices? (Choose two.)
A. LLDP operates on layer 2 and layer 3 interfaces

B. LLDP can interoperate with the cisco discovery protocol CDP

C. LLDP is enabled on all devices by default

D. LLDP operates on layer 2 interfaces

Correct Answer: AC
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